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Example: A line of wells to be drilled in an
alluvial aquifer as shown in the next Figure . The
wells are equally spaced along a line 600 ft from
the river. An impermeable barrier is located
parallel to the river and 1000 ft from the river.
Each well is pumped at a rate of 12 fi'/s.
Determine  the streamline and constant
piczometric head pattern, and the velocity at
point P. Assume that the aquifer is confined with
a depth of 100 ft.

Solution:

Considering the geometry of the flow field will
show us that the flow pattern in AEFD will have
a flow pattern exactly like that within EGHF.
Thus, we need to solve for the flow pattern
within AEFD only, since that solution will apply
to EGHF and other similar areas such as ADKL..
Further consideration of the geometry of AEFD
also shows that we can expect the flow pattern
within ABCD to be mirror image of that within
BEFC or ADMN. Therefore we need to solve for
the flow pattern in ABCD only, since that
solution will apply to all other similar areas in the
flow field.
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